Tricky Split

There are two pirates who always share their loot after a day of pirating. One pirate, named Pintel, is deceitful; the other pirate, named Ragetti, is kind of gullible.  Pintel has invented a system of splitting their loot of gold coins, in the following way:

“One for you, two for me.  Three for you, four for me. Five for you, six for me, ….”

(…until they run out of coins)

Ragetti has surprisingly agreed to this system of sharing.  Their captain, Jack, found out about this scheme and told Ragetti that he is quite stupid for agreeing to this unfair scheme.  Ragetti insists that the scheme was in fact reasonable and that sometimes Pintel ends up ahead, but sometimes he (Ragetti) ends up ahead.  “In fact, our last loot had 15 coins, and I ended up with 9 coins, Pintel ended up with 6”. Jack is now puzzled at Ragetti’s response.  Your task is to convince Jack by writing a program that determines who ends up with more coins, given L, the size of the loot, in number of coins.
INPUT:

The first line contains a positive integer t <= 1000, the number of test cases. This is followed by t lines, with each line containing one positive integer, representing L <= 100000.

OUTPUT:

For each test case, print a line containing “Pintel” if Pintel ends up ahead, or the line “Ragetti” if Ragetti ends up ahead.  There are some cases where they end up even, such as when L = 8. (1 for Ragetti, 2 for Pintel, 3 for Ragetti, and the remaining 2 for Pintel.) When this happens, print “Tie” for that test case.
EXAMPLE:

Input:





Output:
3





Ragetti
15





Pintel
11





Tie
8
